
Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 1 of 15 
 
 

 

 
 
 
 
 
 
 
 

130 W. CONGRESS ST., 3rd FLOOR 
TUCSON, ARIZONA  85701-1317 

TELEPHONE (520) 724-8161, FAX (520) 798-1484 
 

May 19, 2016 
 

IFB 212996: NUTS, BOLTS, & WASHERS ADDENDUM 1 
 
The following clarifications shall be incorporated into IFB #212996: 
 
1. Change on cover page: DUE IN AND OPENS: as follows: 
 
    From:   ”…MAY 26, 2016 AT OR BEFORE 1:30 P.M. LOCAL ARIZONA TIME (MST)…” 
 
    To:       ”…JUNE 1, 2016 AT OR BEFORE 1:30 P.M. LOCAL ARIZONA TIME (MST)…” 
 
2. Change on page 2: INSTRUCTIONS TO BIDDERS: 4. SUBMISSION OF BIDS: as follows: 
 
    From:   ”…Respondents are to complete, execute and submit one original of the following bid documents:   
SIGNED OFFER AGREEMENT with completed; Item Unit Prices and documents or media defining other items 
within the scope of the agreement with Unit Prices and Discount Percents, or Discounted Prices offered; Provide 
Addenda acknowledgement, tax, & contact  information…” 
 
    TO:       ”…Respondents are to complete, execute and submit one original paper copy of the following bid documents 
and one flash drive with completed IFB 212996 Nuts, Bolts, & Washers EXCEL Worksheet:   
 
SIGNED OFFER AGREEMENT with completed; Item Unit Prices and documents AND media defining other items 
within the scope of the agreement with Unit Prices and Discount Percents, or Discounted Prices offered; Provide 
Addenda acknowledgement, tax, & contact  information…” 
 
IFB 212996 Nuts, Bolts, & Washers EXCEL Worksheet is posted on the Pima County website at 
www.pima.gov/procure/ifbrfp.htm 
 
3. Change on page 15: EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1: as 

follows: 
 
    From:   ”… 9 1/2 13 HEX NUT S.S. 

12 1/2 13 X 2 1/2 S.S. C/S  
28 1/4 20 X 1IN HEX HD C/S ZINC  
29 1/4 20 FIN. HEX NUT 316 S.S. 
32 1/4 20 X 1/2 HEX HD C/S ZINC  
70 3/8 16 X 3/4 C/S ZINC  
124 10 X 3/8 HEX HD SMS ZINC  

 129 14 1 1/4 HEX TEK SCREW ZINC PLATED 
 130 14 X 3/4 HEX TEK SCREW ZINC…” 
 
    TO:       ”… 9 1/2 13 HEX NUT S.S. GRADE 5 
 12 1/2 13 X 2 1/2 S.S. C/S GRADE 5 
 28 1/4 20 X 1IN HEX HD C/S ZINC 316 S.S. 
 29 1/4 20 FIN. HEX NUT 316 S.S. GRADE 5 
 32 1/4 20 X 1/2 HEX HD C/S ZINC 316 S.S. 
 70 3/8 16 X 3/4 C/S ZINC 316 S.S. 
 124 10 X 3/8 HEX HD SMS ZINC 316 S.S. 
 129 14 1 1/4 HEX TEK SCREW ZINC PLATED 316 S.S. 

http://www.pima.gov/procure/ifbrfp.htm


Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 2 of 15 
 
 

 

 130 14 X 3/4 HEX TEK SCREW ZINC 316 S.S. 

132 6-32 X 1/2"  TAMPER PROOF TORX BUTTON & BEVEL HEAD 

133 6-32 X 3/4"  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE 

134 6-32 X 1" 

135 6-32 X 1 1/2" 

136 8-32 X 1/2"  TAMPER PROOF TORX BUTTON & BEVEL HEAD 

137 8-32 X 3/4"  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE 

138 8-32 X 1" 

139 8-32 X 1 1/2" 

140 10-32 X 1/2"  TAMPER PROOF TORX BUTTON & BEVEL HEAD 

141 10-32 X 3/4"  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE 

142 10-32 X 1" 

143 10-32 X 1 1/2" 

144 12-32 X 1/2"  TAMPER PROOF TORX BUTTON & BEVEL HEAD 

145 12-32 X 3/4"  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE 

146 12-32 X 1" 

147 12-32 X 1 1/2" 

148 1/4-20-32 X 1/2"  TAMPER PROOF TORX BUTTON & BEVEL HEAD 

149 1/4-20-32 X 3/4"  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE 

150 1/4-20-32 X 1" 

151 1/4-20-32 X 1 1/2" 

152 1/4-20-32 X 1 3/4" 

153 1/4-20-32 X 2" 

154 1/4-20-32 X 2 1/2" 

155 1/4-20-32 X 2 3/4" 

156 1/4-20-32 X 3" 

All screws required on lines 132 through 156 are Tamper proof Torx Button & Bevel Head or Allenhead type will 
be acceptable.  They must be machine thread as Pima County will also use these sizes in a sheet metal type 
thread.  All screws should be available in stainless steel or zinc and a durable grade 8.  These items are priced by 
the package with 25 pieces in each package.  Extended price will be for 10 each of the packages containing 25 
pieces…” 
 

 
4. Replace pages 15 through 17 of 24: EXHIBIT A: NUTS, BOLTS & WASHERS – SPECIFICATION SHEET with: 

 
EXHIBIT A: NUTS, BOLTS & WASHERS – SPECIFICATION SHEET ADDENDUM 1 

 
5. Replace pages 18 through 24 of 24: EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET with: 

 
EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET ADDENDUM 1 

 
 
6. POSTED on Website: EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET – ADDENDUM 1  

EXCEL WORKSHEET: 
 
 
All other terms and conditions remain the same. 
 
Hazel D. Houston 
Commodity Contracts Officer 
Pima County Procurement 
Telephone: (520) 740-8168 
Fax: (520) 791-6507 
Hazel.houston@pima.gov 

 
 
 

mailto:Hazel.houston@pima.gov


Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 3 of 15 
 
 

 

EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1 
 

LINE # DESCRIPTION PART # 

1 1/2 FLAT WASHER 316 S.S. ZINC   

2 1/2 HARDENED SAE FLAT WASHER YELLOW   

3 1/2 USS FLAT WASHER ZINC   

4 1/2 X 5 1/2 WEDGE ANCHOR 50N550AWG 

5 1/2 13 X 1 1/2 GR 8 BOLT ZINC   

6 1/2 13 FIN HEX NUT ZINC   

7 1/2 13 X 10 FT All THREAD ROD ZINC    

8 1/2 13 HEX NUT ZINC   

9 1/2 13 HEX NUT S.S. GRADE 5   

10 1/2 13 NYLON INSERT LOCKNUT ZINC   

11 1/2 13 X 1 316 S.S. HEX HD C/S   

12 1/2 13 X 2 1/2 S.S. C/S GRADE 5   

13 1/2 13 X 3FT 316 S.S. ALL THREAD ROD   

14 1/2 13 X 2 SQ. HD SET SCREW PLN   

15 1/2 13 X 1 GR 8 C/S ZINC   

16 1/2 13 X 2 GR 8 C/S ZINC   

17 1/2 13 X 8 1/2 GR 5 C/S ZINC   

18 1/2 13 X 12FT GR 5 ALL THREAD ROD   

19 1/2 20 X 2 1/2 GR 8 C/S ZINC   

20 1/4 DROP FORGED SHACKLE SCREW PIN HDG 25NSFPG/IM 

21 1/4 FLAT WASHER USS ZINC   

22 1/4 LOCKWASHER 316 S.S.   

23 1/4 FLATWASHER 316 S.S.   

24 1/4 SPLIT LOCK WASHER ZINC   

25 1/4 X 1 1/4 FENDER WASHER ZINC  25R125WFEZ600 

26 1/4 x 1 1/2 FENDER WASHER PLATED  25R150WFEZ 

27 1/4 X 1 1/4 FENDER WASHER PLATED   

28 1/4 20 X 1IN HEX HD C/S ZINC 316 S.S.   

29 1/4 20 FIN. HEX NUT 316 S.S. GRADE 5   

30 1/4 20 DROP IN ANCHOR 25CADI 

31 1/4 20 X 1 18.8 S.S. ROUND HD SLT MS   

32 1/4 20 X 1/2 HEX HD C/S ZINC 316 S.S.   

33 1/4 20 X 1/2 PHILL PAN M/S   

34 1/4 20 X 3/8 HEX C/S 18.8 S.S.   

35 1/4 20 X 1 GR 8 C/S ZINC S.S.   

36 1/4 20 X 3/4 316 S.S. HEX HD C/S   

37 1/8 X 2 1/2 COTTER PIN 18.8 S.S.   

38 1 8 X 4 1/2 GR 8 C/S ZINC   

39 3/4 10 GR 8 HEX NUT ZINC   

40 3/4 DROP FORGEDSHACLE SCREW PIN 75NSFOG/IM 

41 3/4 FLAT WASHER 316 S.S.   

42 3/4 HARDENED FLAT WASHER   

43 3/4 LW 316 S.S.   

44 3/4 LOCK WASHER SAE ZINC   

45 3/4 LOCKWASHER 18.8 S.S.   

46 3/4 SAE FLAT WASHER 18.8 S.S.   

47 3/4 USS FLAT WASHER ZINC   

48 3/4 10 FIN HEX NUT ZINC   

49 3/4 10 HEX NUT 316 S.S.    

50 3/4 10 FIN HEX NUT 18.8 S.S.   



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 4 of 15 
 
 

 

EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1 
 

LINE # DESCRIPTION PART # 

51 3/4 10 HEX NUT GR 8 PLAIN 75CNUT8 

52 3/4 10 X 1 1/2 316 S.S. HEX C/S   

53 3/4 10 X 2 1/2 HEX CAP SCREW S.S. 75C250HCSS 

54 3/4 10 X 2 1/2 HIGH STRENGTH DOME SCRAPER 75C250BPD 

55 3/4 10 X 3 1/2 GR 8 C/S ZINC   

56 3/4 10 X 3 316 S.S. HEX HD C/S   

57 3/4 10 X 3 GR 8 C/S ZINC   

58 3/4 10 X 3 GR 5 C/S ZINC   

59 3/4 10 X 2 1/2 GR 8 C/S ZINC   

60 3/4 10 X 2 1/2 GR 5 C/S ZINC   

61 3/8 LOCKWASHER 316 S. S.   

62 3/8 16 HEX NUTS 316 S.S.   

63 3/8 FLATWASHER 316 S.S.   

64 3/8 SPLIT LOCK WASHER ZINC   

65 3/8 X 5 WEDGE ANCHOR 37N500AWG 

66 3/8 16 DROP IN ANCHOR 37CADI 

67 3/8 1 SQ NUT PLAIN   

68 3/8 16 X 1 316 SS HEX HD C/S   

69 3/8 16 X 1 GR 5 HEX C/S PLATED 37C100HCS5Z 

70 3/8 16 X 3/4 C/S ZINC 316 S.S.   

71 3/8 16 X 3/4 HEX C/S 316 S.S.   

72 3/8 16 X 3 GR 8 C/S ZINC   

73 3/8 16 X 3/4 GR 8 C/S ZINC   

74 3/8  16 X 1 1/4 GR 5 HEX C/S PLATED 37C100HCS5Z 

75 3/8 16 X 1 1/2IN C/S 316 SS   

76 3/16 RIVET GRIP .876 1000 ALUM/ALUM AB616A 

77 5/16 FLATWASHER 316 S.S.   

78 5/16 HEX FINISH NUT PLATED   

79 5/16 USS FLAT WASHER PLATED 31NWUSZ 

80 5/16 18 FIN HEX NUT ZINC   

81 5/16 18 X 1 316 S.S. HEX HD C/S   

82 5/16 18 X 1 1/2 GR 5 HEX C/S ZINC 31C150HCS5Z 

83 5/16 18 X 1/2 G 8 C/S ZINC   

84 5/16 18 X 2 TAP BOLT PLATED 31C150BTAZ 

85 5/16 18 X 2 1/2 TAP BOLT PLATED 31C250BTAZ 

86 5/16 18 X 3 ALL THREAD ROD 316 SS   

87 5/16 18 X 3 HEX TAP BOLT PLATED 31C300BTAZ 

88 5/16 18 NYLON INSERT L/N S.S. 316 31CNNE3 

89 5/16 X 3/4 BUTTON HD HEX W/PIN SCREW S.S. 31C75KHB 

90 5/16 X 7/8 FLAT WASHER NYLON 31N87WUSN 

91 5/16 f436 FLAT WASHER HARDENED 25NWA3Z 

92 5/8 11 X 3 GR 8 C/S ZINC   

93 5/8 FLATWASHER S.S. 316   

94 5/8 USS FLAT WASHER ZINC   

95 5/8 11 ASTM A 194 2H HEAVY HEX NUT 62CN2H 

96 5/8 11 FIN HEX NUT ZINC   

97 5/8 11 GR 8 HEX NUT ZINC   

98 5/8 11 HEX NUT 316 S.S.   

99 5/8 11 NYLON INSERT LOCKNUT 316 S.S.   

100 5/8 11 X 1 18.8 SS HEX C/S   



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 5 of 15 
 
 

 

EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1 
 

LINE # DESCRIPTION PART # 

101 5/8 11 X 2 1/2 GR 8 C/S   

102 5/8 11 X 2 316 S.S. HEX HD C/S   

103 5/8 11 X 4 316 S.S. HEX HD C/S   

104 6 X 32 X 3/4 BUTTON HD TORX W/PIN S.S. 6C75KTB 

105 7/16 HARDENED SAE F/W YELLOW ZINC   

106 7/16 14 GR 8 HEX NUT ZINC   

107 7/16 14 X 3 GR 8 C/S ZINC   

108 7/8 9 FIN. HEX NUT 316 S.S.   

109 7/8 9 X 2 GR 8 C/S ZINC   

110 8 X 3/4 PHIL FLAT SELF DRILLER PLATED   

111 8 X 3/8 PAN HD PHILL SMS ZINC   

112 8 X 1 1/2 HWH SELF DRILLING SCREW 8N150UHWZ 

113 8 X 2 HWH SELF DRILLING SCREW PLATED 8N200UHWZ 

114 8 x 1/2 MOD PHIL RND WASH HEAD SELF DRILLER PLATED   

115 8 X 32 X 3/4 BUTTON HD TORX W/PIN 8C75KTB 

116 8 X 32 X 1 1/2 BUTTON HD TORX W/PIN SCREW S.S. 8C150KTBS 

117 8 X 32 X 1 1/4 SOCKET CAP SCREW S.S.   

118 9/16 HARDENED USS FLAT WASHER ZINC   

119 10 X 1 1/2 HWH SELF DRILLING SCREW ZINC PLATED  10N150UHWZ 

120 10 X 1 1/2 HWH SELF DRILLING SCREW W/NEO ZINC PLATED  10N150UHWZ/NEO 

121 10 X 2 HWH SELF DRILLING SCREW PLATED 10N200UHWZ 

122 10 X 2 1/2 PAN PHIL SMS ZINC   

123 10 X 1 PHILL WAFER HD SELF DRILL SCREW PLATED 10N100UWWZ 

124 10 X 3/8 HEX HD SMS ZINC 316 S.S   

125 10 24 S.S. FIN. HEX NUT   

126 10 32 X 1/2 PHIL PAN M/S PLATED 10F50MXPZ 

127 10 32 X 3/4 BUTTON HD TORX W/PIN S.S 10C75KTB 

128 12 x 1 1/2IN HEX TEX SCREW 410 S.S.   

129 14 1 1/4 HEX TEK SCREW ZINC PLATED 316 S.S.   

130 14 X 3/4 HEX TEK SCREW ZINC 316 S.S.   

131 10 MM SPLIT LOCKWASHER PLATED  10NLOCZ 

132 6-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL HEAD   

133 6-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE   

134 6-32 X 1 IN   

135 6-32 X 1 1/2 IN 6C75KTB 

136 8-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL HEAD   

137 8-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE   

138 8-32 X 1 IN   

139 8-32 X 1 1/2 IN   

140 10-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL HEAD   

141 10-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE   

142 10-32 X 1 IN   

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 6 of 15 
 
 

 

EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1 
 

LINE # DESCRIPTION PART # 

143 10-32 X 1 1/2 IN 8N150UHWZ 

144 12-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL HEAD 8N200UHWZ 

145 12-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE   

146 12-32 X 1 IN 8C75KTB 

147 12-32 X 1 1/2 IN 8C150KTBS 

148 1/4-20-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL HEAD   

149 1/4-20-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE ACCEPTABLE   

150 1/4-20-32 X 1 IN 10N150UHWZ 

151 1/4-20-32 X 1 1/2 IN 10N150UHWZ/NEO 

152 1/4-20-32 X 1 3/4 IN 10N200UHWZ 

153 1/4-20-32 X 2 IN   

154 1/4-20-32 X 2 1/2 IN 10N100UWWZ 

155 1/4-20-32 X 2 3/4 IN   

156 1/4-20-32 X 3 IN   

 
 
 

END OF EXHIBIT A: NUTS, BOLTS, & WASHERS – SPECIFICATION SHEET - ADDENDUM 1 
 
 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 7 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

1 
1/2 FLAT WASHER 316 S.S. ZINC 

1800 EA 
  

2 
1/2 HARDENED SAE FLAT WASHER YELLOW 

2400 EA 
    

3 
1/2 USS FLAT WASHER ZINC 

7400 EA 
    

4 
1/2 X 5 1/2 WEDGE ANCHOR 

500 EA 
    

5 
1/2 13 X 1 1/2 GR 8 BOLT ZINC 

2500 EA 
    

6 
1/2 13 FIN HEX NUT ZINC 

7500 EA 
    

7 
1/2 13 X 10 FT All THREAD ROD ZINC  

500 EA 
    

8 
1/2 13 HEX NUT ZINC 

6400 EA 
    

9 
1/2 13 HEX NUT  S.S. GRADE 5 

2500 EA 
    

10 
1/2 13 NYLON INSERT LOCKNUT ZINC 

9000 EA 
    

11 
1/2 13 X 1 316 S.S. HEX HD C/S 

1000 EA 
    

12 
1/2 13 X 2 1/2 S.S. C/S GRADE 5 

1500 EA 
    

13 
1/2 13 X 3FT 316 S.S. ALL THREAD ROD 

300 EA 
    

14 
1/2 13 X 2 SQ. HD SET SCREW PLN 

1500 EA 
    

15 
1/2 13 X 1 GR 8 C/S ZINC 

1200 EA 
    

16 
1/2 13 X 2 GR 8 C/S ZINC 

1000 EA 
    

17 
1/2 13 X 8 1/2 GR 5 C/S ZINC 

1500 EA 
    

18 
1/2 13 X 12FT GR 5 ALL THREAD ROD 

700 EA 
    

19 
1/2 20 X 2 1/2 GR 8 C/S ZINC 

1200 EA 
    

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 8 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

20 
1/4 DROP FORGED SHACKLE SCREW PIN HDG 

700 EA 
    

21 
1/4 FLAT WASHER USS ZINC 

5400 EA 
    

22 
1/4 LOCKWASHER 316 S.S. 

9000 EA 
    

23 
1/4 FLATWASHER 316 S.S. 

8200 EA 
  

24 
1/4 SPLIT LOCK WASHER ZINC 

7500 EA 
    

25 
1/4 X 1 1/4 FENDER WASHER ZINC  

1200 EA 
  

26 
1/4 x 1 1/2 FENDER WASHER PLATED  

1800 EA     

27 1/4 X 1 1/4 FENDER WASHER PLATED 7500 
EA 

    

28 1/4 20 X 1IN HEX HD C/S ZINC 316 S.S. 1500 
EA 

  

29 
1/4 20 FIN. HEX NUT 316 S.S. GRADE 5 

5500 EA     

30 
1/4 20 DROP IN ANCHOR 

1300 EA     

31 
1/4 20 X 1 18.8 S.S. ROUND HD SLT MS 

2500 EA     

32 
1/4 20 X 1/2 HEX HD C/S ZINC 316 S.S. 

5500 EA     

33 
1/4 20 X 1/2 PHILL PAN M/S 

7500 EA     

34 
1/4 20 X 3/8 HEX C/S 18.8 S.S. 

1800 EA     

35 
1/4 20 X 1 GR 8 C/S ZINC S.S. 

7500 EA     

36 
1/4 20 X 3/4 316 S.S. HEX HD C/S 

9500 EA     

37 
1/8 X 2 1/2 COTTER PIN 18.8 S.S. 

5500 EA     

38 
1 8 X 4 1/2 GR 8 C/S ZINC 

700 EA     

39 
3/4 10 GR 8 HEX NUT ZINC 

7500 EA     



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 9 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

40 
3/4 DROP FORGEDSHACLE SCREW PIN 

100 EA     

41 
3/4 FLAT WASHER 316 S.S. 

6500 EA     

42 
3/4 HARDENED FLAT WASHER 

2500 EA     

43 
3/4 LW 316 S.S. 

1500 EA     

44 
3/4 LOCK WASHER SAE ZINC 

7900 EA     

45 
3/4 LOCKWASHER 18.8 S.S. 

2500 EA     

46 
3/4 SAE FLAT WASHER 18.8 S.S. 

5500 EA     

47 
3/4 USS FLAT WASHER ZINC 

2300 EA     

48 
3/4 10 FIN HEX NUT ZINC 

5500 EA     

49 
3/4 10 HEX NUT 316 S.S.  

7500 EA     

50 
3/4 10 FIN HEX NUT 18.8 S.S. 

3500 EA     

51 
3/4 10 HEX NUT GR 8 PLAIN 

75 EA     

52 
3/4 10 X 1 1/2 316 S.S. HEX C/S 

500 EA     

53 
3/4 10 X 2 1/2 HEX CAP SCREW S.S. 

9500 EA     

54 
3/4 10 X 2 1/2 HIGH STRENGTH DOME SCRAPER 

500 EA     

55 
3/4 10 X 3 1/2 GR 8 C/S ZINC 

700 EA     

56 
3/4 10 X 3 316 S.S. HEX HD C/S 

500 EA     

57 
3/4 10 X 3 GR 8 C/S ZINC 

725 EA     

58 
3/4 10 X 3 GR 5 C/S ZINC 

1200 EA     

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 10 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

59 
3/4 10 X 2 1/2 GR 8 C/S ZINC 

7500 EA     

60 
3/4 10 X 2 1/2 GR 5 C/S ZINC 

1800 EA     

61 
3/8 LOCKWASHER 316 S. S. 

3200 EA     

62 
3/8 16 HEX NUTS 316 S.S. 

8800 EA     

63 
3/8 FLATWASHER 316 S.S. 

7500 EA     

64 
3/8 SPLIT LOCK WASHER ZINC 

8500 EA 
  

65 
3/8 X 5 WEDGE ANCHOR 

2300 EA     

66 
3/8 16 DROP IN ANCHOR 

1500 EA     

67 
3/8 1 SQ NUT PLAIN 

9300 EA     

68 
3/8 16 X 1 316 SS HEX HD C/S 

7500 EA     

69 
3/8 16 X 1 GR 5 HEX C/S PLATED 

9100 EA     

70 
3/8 16 X 3/4 C/S ZINC 316 S.S. 

7500 EA     

71 
3/8 16 X 3/4 HEX C/S 316 S.S. 

6500 EA     

72 
3/8 16 X 3 GR 8 C/S ZINC 

8500 EA     

73 
3/8 16 X 3/4 GR 8 C/S ZINC 

7500 EA     

74 
3/8  16 X 1 1/4 GR 5 HEX C/S PLATED 

3200 EA     

75 
3/8 16 X 1 1/2IN C/S 316 SS 

1100 EA     

76 
3/16 RIVET GRIP .876 1000 ALUM/ALUM 

100 EA     

77 
5/16 FLATWASHER 316 S.S. 

7500 EA     

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 11 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

78 
5/16 HEX FINISH NUT PLATED 

9500 EA     

79 
5/16 FLAT WASHER PLATED 

15000 EA 
  

80 
5/16 18 FIN HEX NUT ZINC 

9100 EA     

81 
5/16 18 X 1 316 S.S. HEX HD C/S 

8800 EA     

82 
5/16 18 X 1 1/2 GR 5 HEX C/S ZINC 

7200 EA     

83 
5/16 18 X 1/2 G 8 C/S ZINC 

3600 EA     

84 
5/16 18 X 2 TAP BOLT PLATED 

175 EA     

85 
5/16 18 X 2 1/2 TAP BOLT PLATED 

275 EA     

86 
5/16 18 X 3 ALL THREAD ROD 316 SS 

750 EA     

87 
5/16 18 X 3 HEX TAP BOLT PLATED 

850 EA     

88 
5/16 18 NYLON INSERT L/N S.S. 316 

3100 EA     

89 
5/16 X 3/4 BUTTON HD HEX W/PIN SCREW S.S. 

4900 EA     

90 
5/16 X 7/8 FLAT WASHER NYLON 

5600 EA     

91 
5/16 f436 FLAT WASHER HARDENED 

15,000 EA     

92 
5/8 11 X 3 GR 8 C/S ZINC 

1200 EA 
  

93 
5/8 FLATWASHER S.S. 316 

1100 EA     

94 5/8 USS FLAT WASHER ZINC 7500 EA     

95 5/8 11 ASTM A 194 2H HEAVY HEX NUT 7500 EA 
  

96 5/8 11 FIN HEX NUT ZINC 1500 EA     

97 5/8 11 GR 8 HEX NUT ZINC 3500 EA     

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 12 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

98 
5/8 11 HEX NUT 316 S.S. 

5500 EA     

99 
5/8 11 NYLON INSERT LOCKNUT 316 S.S. 

1200 EA     

100 
5/8 11 X 1 18.8 SS HEX C/S 

4500 EA     

101 
5/8 11 X 2 1/2 GR 8 C/S 

6600 EA     

102 
5/8 11 X 2 316 S.S. HEX HD C/S 

2500 EA     

103 
5/8 11 X 4 316 S.S. HEX HD C/S 

500 EA     

104 
6 X 32 X 3/4 BUTTON HD TORX W/PIN S.S. 

50 EA     

105 
7/16 HARDENED SAE F/W YELLOW ZINC 

9800 EA     

106 
7/16 14 GR 8 HEX NUT ZINC 

9500 EA     

107 
7/16 14 X 3 GR 8 C/S ZINC 

3500 EA     

108 
7/8 9 FIN. HEX NUT 316 S.S. 

4500 EA     

109 
7/8 9 X 2 GR 8 C/S ZINC 

1200 EA     

110 
8 X 3/4 PHIL FLAT SELF DRILLER PLATED 

15,000 EA     

111 
8 X 3/8 PAN HD PHILL SMS ZINC 

7500 EA     

112 
8 X 1 1/2 HWH SELF DRILLING SCREW 

500 EA     

113 
8 X 2 HWH SELF DRILLING SCREW PLATED 

250 EA     

114 
8 x 1/2 MOD PHIL RND WASH HEAD SELF DRILLER 
PLATED 

30000 EA     

115 8 X 32 X 3/4 BUTTON HD TORX W/PIN 900 EA     

116 8 X 32 X 1 1/2 BUTTON HD TORX W/PIN SCREW S.S. 750 EA     

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 13 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer 
Agreement requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

117 
8 X 32 X 1 1/4 SOCKET CAP SCREW S.S. 

2200 EA     

118 
9/16 HARDENED USS FLAT WASHER ZINC 

2500 EA     

119 
10 X 1 1/2 HWH SELF DRILLING SCREW ZINC PLATED  

250 EA     

120 
10 X 1 1/2 HWH SELF DRILLING SCREW W/NEO ZINC 
PLATED  

175 EA     

121 
10 X 2 HWH SELF DRILLING SCREW PLATED 

110 EA     

122 
10 X 2 1/2 PAN PHIL SMS ZINC 

7500 EA     

123 
10 X 1 PHILL WAFER HD SELF DRILL SCREW PLATED 

450 EA     

124 
10 X 3/8 HEX HD SMS ZINC 

15000 EA     

125 
10 24 S.S. FIN. HEX NUT 

12000 EA     

126 
10 32 X 1/2 PHIL PAN M/S PLATED 

200 EA     

127 
10 32 X 3/4 BUTTON HD TORX W/PIN S.S 

50 EA     

128 
12 x 1 1/2IN HEX TEX SCREW 410 S.S. 

1200 EA     

129 
14 1 1/4 HEX TEK SCREW ZINC PLATED 

4500 EA     

130 
14 x 3/4 HEX TEK SCREW ZINC 

5700 EA     

131 
10 MM SPLIT LOCKWASHER PLATED  

4000 EA     

132 
6-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL 

HEAD 
10 

PK/25 
EA 

  

133 
6-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE 
ACCEPTABLE 

10 
PK/25 

EA 

    

134 6-32 X 1 IN 10 
PK/25 

EA 

    

135 6-32 X 1 1/2 IN 10 
PK/25 

EA 

    

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 14 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer 
Agreement requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

136 
8-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & BEVEL 

HEAD 
10 

PK/25 
EA 

    

137 
8-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE ARE 
ACCEPTABLE 

10 
PK/25 

EA 

    

138 8-32 X 1 IN 10 
PK/25 

EA 

    

139 8-32 X 1 1/2 IN 10 
PK/25 

EA 

    

140 
10-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & 

BEVEL HEAD 
10 

PK/25 
EA 

    

141 
10-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE 
ARE ACCEPTABLE 

10 
PK/25 

EA 

    

142 10-32 X 1 IN 10 
PK/25 

EA 

    

143 10-32 X 1 1/2 IN 10 
PK/25 

EA 

    

144 
12-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & 

BEVEL HEAD 
10 

PK/25 
EA 

    

145 
12-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE 
ARE ACCEPTABLE 

10 
PK/25 

EA 

    

146 12-32 X 1 IN 10 
PK/25 

EA 

    

147 12-32 X 1 1/2 IN 10 
PK/25 

EA 

    

148 
1/4-20-32 X 1/2 IN  TAMPER PROOF TORX BUTTON & 

BEVEL HEAD 
10 

PK/25 
EA 

    

149 
1/4-20-32 X 3/4 IN  TAMPER PROOF ALLENHEAD TYPE 
ARE ACCEPTABLE 

10 
PK/25 

EA 

    

150 1/4-20-32 X 1 IN 10 
PK/25 

EA 

    

151 1/4-20-32 X 1 1/2 IN 10 
PK/25 

EA 

    

152 1/4-20-32 X 1 3/4 IN 10 
PK/25 

EA 

    

153 1/4-20-32 X 2 IN 10 
PK/25 

EA 

    

154 1/4-20-32 X 2 1/2 IN 10 
PK/25 

EA 

    

 



Solicitation #212996  NUTS, BOLTS, AND WASHERS ADDENDUM 1 

Page 15 of 15 
 
 

 

EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 

UNIT PRICES (Net 30 day Payment Terms) 
All unit prices shall be filled in.  Failure to do so shall be cause for rejection as non-responsive.  The Brand Name and 
Manufacturer Number shall be listed for each item.  Submit this information in the space below the item name. 
 

ITEM 
# 

ITEM NAME 
Items to include and satisfy all Solicitation & Offer Agreement 
requirements, General & Item Specifications 

ESTIMATED 
ANNUAL 
USAGE 

QUANTITY 

UOM 

UNIT PRICE 
$ 

EXTENDED 
AMOUNT $ 

155 1/4-20-32 X 2 3/4 IN 10 
PK/25 

EA 
    

156 1/4-20-32 X 3 IN 10 
PK/25 

EA 
    

 
 

FOB Destination/Unloaded; Cost of freight should be included in unit price. 
 
Although taxes will be paid IF applicable do NOT include sales tax in unit price. 

TOTAL BID 
AMOUNT 

  

 
 

END OF EXHIBIT B: NUTS, BOLTS & WASHERS UNIT PRICING SPREADSHEET - ADDENDUM 1 
 


